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M R T Y 1 33, 377, 000
BEXTTERR T = 1 33,377,000 | HE&E 14, 900 m3
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B ERX El B E R E 1 =«
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AT ny )8R 1, 303 m2
B ERLEET7 ny) K-V
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[1-0. Om ;
ZEREFL 2V 7,817,940 | 5Ty b (L EREAD) 48 m2
2B (2 AR, BAY, MiGATVI Ak, BIFEA15~20cm
2 Ty b (B 156 m2
3B (B AR, BAY, MigATV Ak, BIFEA15~20cm
2 Ty M (B 51 m2
4B (2 AR, BAY, BiGATV Ak, BIFEA15~20cm
R T 2V 2,795,752 |EZ 1, 350 m2
2 Fl - R A 920 m2
Wy 920 m2
) xfvy7avh FEH AmA L JE 0. 02mmfEE
PEEE T = 10, 932, 090
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LW-H2500-B1-2000 (447 =/ A ZELRERT)
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(SRR iR 32 m
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V4=7" -l 66 &
¢ 50 X 150 (&8 H ML)
SR v k- T Y 1 440, 220 | BLGFT HHEAK 1 AT
MB7E (500 X 500 X 450) 18-8-25BB W/C=60% ;
BUGFT B Kt 1 (50
MG (1400 X 1400 X 2000) 18-8-40BB W/C=60% ;
SEHNT & 7 &l
¢ 19 W=300 Mg,
418 1 T Y 1 270, 900
TA7 7 M2 T 2V 1 270,900 | FJE A% (E - BIE ) 91 m2
RC-40 t=150mm ;
=)@ (HIE - B ) 83 m2
BRI EET AT 7V MEA ¥ (BT20FH) B4 44 A t=50mm
Bk iE T Y 1 532, 000
HEY L Y 1 532,000 |VE%E7 ) 40 m
NW-H500-L2000 ;
% T Y 1 93, 296
% T 2V 1 93,296 | —ZEHEAKIE 7 ST
250 X 250 X 550 (ERR & T9) ;
WAL Vi 7 m
VUD 150 ;
FEE YR T 2V 1 14, 420, 760
HEEE L T Y 1 3,817,925 |av))-MEEMELE L 295 m3
MAHEEY
vy - MEIEW IEE L 51 m3
SR HEIEY
il R A 980 m2
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LiE IR 1, 810 m2
TA77 W MEEEIR t=15cm
TS L 2V 809, 705 | 7> vy Mtk 156 m2
% B fEMY t=50cm ;
A 1 =K
Sep e~ F/
FEIA (=27) 1 =K
=2 ER
HE A 1 =K
AMRE
DTS L 2V 2,271,941 | /Ty Mt 427 m2
% B fEMY t=50cm ;
A 1 =K
fhe 2 RHSE~ B/
A (b=27) 1 =K
- ER
HE A 1 =K
I AMRE Y
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) -hik (5
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e T A 1 =K
TATTIVhER ;
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) -hik (5
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BTy 49 m3
TAT7 VAR
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TAT7 VAR
BTy 8 m3
) -hik (&5
BTy 74 m3
vy - bk (B
BTy 100 m3
vy - b (BRAG (B )
BTy 91 m3
TAT7 VAR
EEETEE = 1 169, 117, 746
Il R Y 1 14, 163, 100
Bt = 1 2,663, 100
) = 1 1,182,100 | )l THHMRIEREE ! A
YATARI L (ICT) 1 2V
Bl RIEWER (FE L) Y 1 1, 481, 000
mEER®E (EE L) Y 1 11, 500, 000
Wl T = 1 183, 280, 846
Bl H e 2V 1 42, 557, 000
T =5 =Y 1 225, 837, 846
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